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example of what
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different notes —
- depends on the
"0“0'3 chemIStrv year. Please use
this as a general
guide only. Read the
reference sheets in
your 3-ring binder
for more specifics




Josdaiund: <
g 2




[0 Centact lonsy < “Eume hop 9

. s 3
aluyy (\khé Wrea

S paoe
o "L{‘L‘(u\

Cion
: oo~
%V\% B J_a\/h

A o T e
E un Cg"'l/VL/{‘lL[

e | Codg owne) CDC‘(&owl i . M)Q()L to Smelg

2 Qg‘kz\“(’\*&\/\

Qs nwue a0
;‘30 WO g

20 v clon, Ppotte,

‘c‘\ov\i,Pm Cole e 2 Y " 193 Mot

MSpS

— - el /
acifd Pilickore.

Ked= “amM%
Blue = |hoatth
Wellow. = fﬁwb)u/‘w

AONTeSeva VY
V) [WeoxC Closed doed S\hhoes
2)| +1e hoir boese
8 3)| dent o0 ocound
/‘F DOUCH (AP $H2
_ Do moke eduae s Into Youdlior Uidgeg -
,/QFW\I\ bagate  Lor colQgean !
i <=
|

= |

s IN=1 fh@m\gﬂ\' Madih Regiean

/;,,1 | MEeASUrEMeS thaue  3°54%10

~ | ; Ex t
I V¥aV e One|___| Rest of penen .
# || ol thedis Elo o

B | Dsecting wdavic

To convertto a smaller
N - 00 =" unit, move decimal
e ! $\1 S \ﬁ\’\/\ s | 100 |——— point to the right
| % [ {or multiply)

e o 0] e
g™  Fasy! L i 0 - S

— | pointtotheleft

L dust MouE | == | S

B - vEciie

|




Feel Free to
add tabs,
bookmarks,

etc to your
notebook!
Make it work
for you!




| like to make a
pocket in the
back to hold a
little ziplock bag
filled with my
Glue Ins for my
notes. That way
| can print them
all at once, cut
them to size,
and not lose
them!




| like to print a
small periodic
table (you can

shrink it down

to 75% in the =i
print menu) and —
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It onto the back
Inside cover so it
flips out of my
notebook! Very
handy!
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The next set of
slides are just
examples of the
first few weeks

of warmups and
notes. Try to
look for the
following
things.

 Large clear numbering and titles on warmups
and notes.

* Highlighter lines separating the different
assignments.

* Warmups have numbered questions, show all
your work not just an answer!

* Space left in the notes around important points
— do not crowd your notes! We have lots of
space in our notebooks, use it!

* You can just start the next assignment directly
under the highlighter divider — you do not need
to start on a new page!



The next set of
slides are just
examples of the
first few weeks

of warmups and
notes. Try to
look for the
following
things.

* Color Annotations adding a minimum of three
additional colors to the notes.

* Color Annotations done in a meaningful way —|
didn’t just scribble the background or highlight
every word a different color.

* More is not always better!

 Be careful to not focus on “decorating” or
“coloring” your notes — you are supposed to be
doing color “annotations.” Sometimes people
have beautiful notes but they spent more time
on what they look like than thinking about what
the notes say!



« KCQ Boxes added to the end of each set of

The next set of notes _ .
slides are just * Make the boxes fit the work that needs to be in
examples of the them, don’t draw the boxes and then squeeze in
first few weeks the information! Use as much space as needed.
of warmupsand i All key terms, not just words that're new to you!
notes. Try to * Connections can be to previous classes, things
look for the you saw on TV etc - but they should be specific.
following Don't just write “7t" grade”

things. * Questions —two questions, one lower level, one
higher level. You do not have to answer them!
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(N5 Aomic Stucture,

L Pagion's .

Daiton's Atomic Theory (1808]

STV, ST

Postulate

All matter composed of extremely
small particles called atoms
Atoms of a given element are
identical in size, mass, and other
properties .
Atoms of different elements differ in
size, mass, and other properties
Atoms cannot be subdivided,
created, or destroyed
Atoms of different elements combine
in simple whole-number ratios to
form chemical comp ounds
In chemical reactions, atoms are
combined, Separated, or rearranged
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Conclusions from the Study of the Electron

Cathode rays have A I\ e\e me\’\‘b/
identical properties e e = n’\l

regardless of

element used Cque 6 = s
Atom must hae

Atoms are neutral + PC\‘f““'L‘Cu 3 j’) 1
e~ ave negarye

Electrons have very A6 ms LRSS
little mass compared Ihave NneAavi elr

to the atom’s mass pa(+’pus —mo
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Conclusions from the Gold Foil Experiment

Most of the particles A ¢l LS S M al
passed right through

A few particles were NWCe s i S
greatly deflected. densa . +
mostly emphy

Very few were
GREATLY deflected
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Particle Composition Charge Mass

Alpha 23 Helium Nuclei +2 43mu

Shielding Penetrating Change Change to
Power to Mass # Atomic #
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Paper
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O E—— 0 +1

foil 4mm body tissue

2

Particle Composition Charge
High energy
Gamma Y electromagnetic 0
radiation
3 Approx. Penetrating Change Change to
e Energy Power to Mass # Atomic #
Lead 1MeV High 0 0
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Nuclear Reactions =3

Occur when bonds are OCCL'II' when nuclei emit g@ l/\ n (Lc LQ . *_e C \L w ‘C
q;ﬁmnf) e %93 )0
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broken particles and/or rays
Atoms remain unchanged,

although they may be Atoms often converted into ==
T  Srong e Cu\cdlo%

rearranged atoms of another element

| | Involve only valence : ! ALLLY
electrons May involve protons, AN - M(&v MO(A!’\
[~ [Associateq ith small ~=t1ons, and electrons A \C@L
with smal Associated with : | 4% 7 <G) I\OA,
| |_energy changes b e large energy 7 SN > A U\
= s - T
eaction rate influenced by | Reaction rate is not influenced - ==

temper.
Perature, particle size, by temperature, particle size
concentration, etc, concentration, etc '
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